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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 787 11.1 3.7 20 55.3 94.1

SPaG 832 2 0.6 3 66.5 99.5
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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(b) Explain why the development of penicillin has been important for the treatment and
prevention of disease since the 1920s. [7]

[In your answer, you should use the information provided in the sources and your own
knowledge to show the extent of importance and the reasons for this]
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Sticky Note
This response was awarded Level 2 4 marks. The candidate has used the sources and own knowledge to start to focus on the reasons for the development of penicillin. The reasons could be made more explicit and could be more fully developed. 

Sticky Note
Direct use of Source B.

Sticky Note
Good use of knowledge.

Sticky Note
Direct use of Source A. Use of additional knowledge as well to develop the answer more fully. Begins to focus on some of the issues affecting the development of penicillin.







Sticky Note
This response was awarded Level 2 5 marks. The candidate has used the sources and added knowledge. There is some attempt to discuss the reasons for the development of penicillin but the response remains slightly too descriptive.

Sticky Note
Direct use of Source B. Good use of additional knowledge to develop the response. Begins to focus on the reasons for the development of penicillin but this could be made more explicit. 

Sticky Note
Direct use of Source A. Good use of knowledge to develop the response annd some attempt to explain the development of penicillin.
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Sticky Note
This response was awarded Level 3 6 marks. The candidate has produced a systematic response focussing sharply on the factors affecting the development of penicillin. Good use of sources and additional knowledge to develop the response fully.

Sticky Note
Implied use of Source B. Clear focus on factors affecting the development of penicillin.

Sticky Note
Good use of additional knowledge and a clear focus on the issue of development. The candidate makes a clear attempt to explain why penicillin developed as a wonder drug.

Sticky Note
Direct use of Source A. Some use of additional knowledge.
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Question 2(b)

Target:

Selection of knowledge; understanding of key concepts

Mark allocation:

AO1 AO2 AO3

7

2 3 2

Question:

LEVEL 1

LEVEL 2

LEVEL 3
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Explain why the development of penicillin has been
iImportant for the treatment and prevention of disease
since the 1920s. [7]

Use O for incorrect or irrelevant answers.
Generalised answer; paraphrases the sources; lack of focus. [1-2]

Eg.: Fleming discovered penicillin which ended up treating wounds.
Accurate answer which begins to address the question. [3-5]

Answers worth 3 marks will use the sources and own knowledge to
mostly describe the issue.

Answers worth 4 or 5 marks will use the sources and own knowledge to
start to focus on the concept of change or development. (Reference to
sources here may be implicit.)

Eg. Answers will refer to the discovery of penicillin (Source A) and its
subsequent use as a treatment for infection (Source B), which led to a
revolution in treatment. They should begin to describe Fleming’s research into
antiseptic methods and the discovery of the bacteria-killing mould penicillium
notatum in 1928. Also the role of government funding in the Second World
War in providing the money and support for the mass production of penicillin.
They could make reference the lack of facilities which hindered the
development and testing of penicillin by Fleming, then Florey and Chain in the
1920s and 1930s.

Answer addresses the question clearly. [6-7]

Answers worth 6 marks will use both the sources and own knowledge to
explain the concept of change or development.

Answers worth 7 marks will use both the sources and own knowledge to
explain the concept of change or development. There must be explicit
reference to both sources in order to gain this level.

Eg.: Atthis level we would expect to see answers focused directly around the
concept of improvement in treating of disease. There will be discussion of the
historical problems of infection in treatment of patients. This should link to
Fleming’s discovery of penicillium notatum in 1928, which is illustrated in
Source A. Candidates should make more of the work of the two Oxford
scientists, Howard Florey and Ernest Chain, in heading up a research team in
1930. Source B illustrates role of the Second World War in providing
government funding after 1942 for the mass production of penicillin. This
should lead on to a discussion of the success of penicillin as the world’s first
antibiotic. Candidates may point out that in the modern world there is a
growing concern with resistance to antibiotics such as penicillin.
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